MNote :

POPULATION STUDIES
PAPER—II

This paper contains fifty {50} rultiplechoice gquestions, each gquestion carrying
two (2} marks. Attempt all of themn
In which ore of the following, dual report systern is followed ?

{AY Sample Registration System {B) Mational Sample Surveys

{C} National Population Census {Iy  Civil Registration Systemn 0

In India, the signature and/or thumb impression of the respanz@s collected

during the census year :
(ay 1971 (B) 1981 @’
(Cy 1991 (D) 2001 0

rould normally be done -
P Night of 31st March

In Indian census, enumeration of homeless pgpW

fAY  On the Night of Ist April

{Cy O the Night of Ist March the Night of 28th February
Which one of the followin ource of information on socio-economic aspects
of population du:rmg mher riod?
{AY Sample Regis 3 National Famnily Health Surveys
{Cy Nationals {D} Drermnographic Surveys
Index of i aception {C} is part of whose model?
fA) Blake {BY Easterlin
aarts {Iy  Caldwell

calculating General Fertilty Rate, the denorninator is:
{AY Population 1549 age group
{BY Married womnen 1549 age group
{Cy  Unnarried womnen 1549 age group
{T%  Total women 1549 age group
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10.

In comnputing crude rates based on direct standardization procedure:
{AY Effect of age distribution is comnpared

{B) Standardized age distribution is taken for all areas to be compared
{Cy Both of them

{I% None of them

Prevalence is higher than inddence because:
{AY  Numerator includes only new cases in the reference period. 0
{BY MNumerator includes all new and old cases

{Cy Denomirator is lower

{T%  Longer reference perind @ ¢

In Stationary FPopulation, which one of the foll i correct 7

(A} Birth Rate = Death Rate k
o1

() %o Birth Rate

(T 82 =2xIMR

{T¥% EBirth Rate — Dea% tural Growth Rate =

The pattern ASDR meg countties is :

* (B} ] -Shape
Shape {I¥y U - Shape

nent method of population projection is called so because:
Projection is done age-wise

{BY Components of population growth -fertility, mortality and migration - are projected
first.

{Cy Projectionis done for school going populatior, labour force and aged population
separately

{T%  None of the above
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12. In Life Table, T,; means:
{AY Person years Hved (life table population) before ape 20 years.
{BY Total person years lived at exact age 20 years.
{Cy Total person years lived at age 20 years and abowve.

{T¥ TPerson years lived in age group 20-21 years.

13. Which one of the following assumptions is correct in estimating the sj n age

at marriage using Hajnal method 7

{AY Fertility has beer corstant in the past

{BY Pattern of mortality is constant @ ¢
{Cy Marriage has rernained constant in the past 0

{T Both fertility and mortality have remaige In the past

14. Which one of the following is not in case of HIV / AIDS:
{AYy HIV / AIDS is curable

{BY HIV / AIDS does pofepr st by shaking hand

{Cy Orne canpro ves from HIV / ATDS using condom everytime they have
sex
(T HIV dgps not spread by eating together with persons having HIV / AIDS.
15. of the following is not matched correctly

Yy P =P +r¥ - Arithmetic Growth Rate

(B P, =P - Exponential Growth Rate
k

{Ch Pt:m - Logistic Growth Rate
(DY P=P_ (1+ry - Arithmetic Growth Rate
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16. The denmninator of maternal mortality ratio (MWR) is:
{AY Total women in ages 15-49 years

{By Total married women in ages 1549 years
{Cy Total number of live births

{T% None of the above

17. Which one of the following is not mnatched correctly 7
{AY CDR : Based on total Fopulation 0
{BY IMR : Based on all the Pregnarncies O

{Cy  ASDR : Based on total population in specific age gro P
{T%  Maternal Mortality Rate : Based on total wome: @r&am.

18. Which of the following six countries account one half of world population
growth?
N

{A} China, India, USA, UK, Brazil

{B} Nepal
{Cy gladesh and Indonesia
{Th  USA, UK, Nigeria, Efgdo uth Africa, and India

19. Assertion (A) : i@nf 06 age group is dedlining in India.

Reasen (R Sogppreference has not yet vanished in India.

(R) true and (R) is the correct explanation of (A)

(A) and (R) are true but (R) is not the correct explanation of (A)
J is true but (R) is false

{(A) is false but (R) is true

20. During which decade the growth rate of population in India was the highest?
(A) 1921 - 31 (B} 1951 - 61
{Cy 1961 - 71 (D 1991 - 2001
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21. Which one of the following States has the highest decadal growth rate of population
during 1991 - 2001,

{AY Rajasthan {BY Uttar Pradesh
{Cy Eihar {I¥y  Madhya Pradesh

22. Which one of the following has the highest percent of aged population in India
2001 census?

{AY Maharashtra {B) Tamil Nadu
(Cy Kerala (DY TPunjab O

23. Based on the census of India - 2002, which one of the follo r®¥inations is i the
correct descending order according to literacy rate 7

{AY Maharashtra, Kerala, Gujarat, and Tamil Nado
{BY Kerala, Maharashtra, Tamil Nadu and C%
{Cy Kerala, Maharashtra Gujarat and T&Ja

)

(T  Tamil Nadu, Kerala, Mahara a arat

24. This consists of two lists of

ey ﬁ g terms or symbols and the student has to match
an itern in one list with an Yernggiiother.

List -1 List - 11
{ay Highest dens@ {Iy Punjab
{by raggp (F/ M)} {iy Rajasthan

{ch acy Rate {iify Woest Bengal

ast Fernale age at marriage  {iv) Kerala

B () ()
(ay & g 4 @)
(By (wy () @

(Cy () @ (v
(Dy @ vy @ (ED
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25, On the basis of place of birth informatior, persons are classified as migrants if:
{AY The place of ermrmeration is the same
{BY The place of ermneration is different
{Cy The place of enumeration is urban area

{T% The place of enumeration is mural area

26. Assertien (A) : Urban population growth in India has been ver after

Independence.
Reasen (R) :  Economicand sodal structure of urban centres deve significantly

in independent India. ¢
{AY TBoth (A) and (R) are true and (R) is the correct il of (A).
{BY TBoth (A) and (R) are true but (R) is not coggeet tion of (A).
{Cy  (A)is true but (R) is false
{Th  (A)is false but (R) is true \
27. Which ore of the following is e timportant factor in making dedsion to migrate?
{AY TFactors at origin {BY TFactors at destination
{Cy Intervening @ {T% Tersonal factors
*
28, Accordi census, what is the percent of urban population in India?
(A INE (By 27.8
2 (D} 29.8

29. "Which ore of the following major Indian States has the highest percert of urban
population during 2001 census ?

{AY  Tamil Nadu {By Maharashtra

{Cy Karnataka (I Gujarat
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30. Which one of the following is the correct sequence according to their share of urban
population in India’s total urban population.

{AY Tamil Nadu, Maharashtra, West Bengal and Uttar Pradesh
{BY Maharashtra, Uttar Pradesh, Tarnil Nadu and West Bengal
{Cy Tamil Nadu, Maharashtra, Uttar Pradesh and West Bengal
{D  Maharashtra, Tamil MNadu, West Bernigal and Uttar Pradesh

31. This consists of two lists staterments, terms or symbols and the student hta:h an

itern in ore lst with an item in another.
List -1 List - II

{ay Theory of change and response {1} @’

{by  Theory of quality and quantity trade off {1 0

{cy  Sodo - economic theory of fertility Q

{dy Proxdmate determinants of fertility Lieberstein
Codes:

(e} (B} (g} (d)
@ @ & 6 @ (b.
® O & 6 @
© @ @ {h@

D vy @ 4

*

32 llowing is not a positive check on population according to Malthus?

{BY Tsunami

Y NProstitut (D) Poverty

33. Which orne of the following courntries is generally cited as the best example for
irternational migration?

{AY  Australia {BY Israel

{Cy  United States {Iy Sri Lanka
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34, Arrange the following courdries according to their rank of hwnan development index
in descending order.

{AY Pakistan, India, Bhutan and 5ri Lanka
{BY India 51 Lanka, Pakistan and Bhutan
{Cy SriLarka, India, Bhutan and Pakistan
{T% Bhutan, Pakistan, India and Sri Lanka

35. According to PEI, which one of the following major States has the leg @
terms of human developrnent index?

{AY TUttar Pradesh {BY Madhya Pradesh O
{Cy Bihar {D  Rajsthan @ 7S

36. Which one of the following is the most Important r@ for air pollution in Mega

t
Cities?
{AY Industries TN @ Traffic
CY  Sewape ape bumin
& bage b 5

37. Assertion (A) : Age at e P o Pales is steadily increasing in India.
Reason (R) :  Large nuiRber males are pursuing higher education in India.
{AY Both (A) and @ & and (R) is the correct explanation of (A).

(B} Both (A) and
(Cy  (A)i butgR) is false

true but (R) is not the correct explanation of (A).

ut (R) is true

: High value is placed on chastity in India

Prevalence of HIV / AIDS is low in India
{AY Both (A) and (R) are true and (R) is the correct explanation of (A).
{B) Both (A) and (R} are true but (R) is not the correct explanation of (A).
{Cy  (A)is true but (R) is false.
{Th  (A)isfalse but (R) is true.
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39. Assertion (A) : Family size is decreasing in India
Reasen (R) :  Large number of fermnales are getting emnpowered In India.
{AY Both (A) and (R) are true but (R) is the correct explanation of (A).
{BY TBoth (A) and (R) are true but (R) is not the correct explanation of (A).
{Cy  (A)istrue but (R) is false.
{Th  (A)isfalse but (R) is true.

40. One of the important componernts of National Population Policy, 2000 1
{AY  Achieving TFR = 21 by 2020 0
{BY Achieving TFR = 2.5 by 2010 O
{Cy  Achieving TFR = 1.8 by 2010 .
(T Achieving TFR = 21 by 2010. @

41. The Medical Termination of Pregnancy Act wa
{A) 1994 (B} %
{Cy 1962 &32

42, Major Shift in our Family We rume under RCH was:

{B) TProgramume bec o L et oriented.

{Cy Focus on fert ntfpl became stronger.

(T4 Mother's heawafcompletely left out.

*

2000, stable population would be achieved by the year :

(B} 2045 AT
(DY 2040 AD.

43.

ich one of the following can be put urnder fertility influencing policy ?
{AY Land reformn, Child labour ban and Female age at marriage
{BY TFernale age at marriage, Promotion of contraceptive use and abortion
{Cy  Improving child survival, Sanitation and Safe drinking water
{Th  Imnproving transport, Health facility and Service outreach
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45, In Sixth and Seventh Five - Year Flans, India’s Population Policy goal was in terms of:
(4) CBR (By GFR

{C) NRR {0y GMFR

Read the following Paragraph carefully and answer the questions no. 46 to 50.

In both developing and developed countries, a combination of populatior®gro

and gender iInequalities; unsustainable use of natural resources; and p ton growth,

structure, and distribution. In many countries, consurn production patterns

are the primary factor: as dermnand increases, so does fand-gearmg and mirndng, which

leads to the destruction of forest and habitats of eoples, the degradation of

land and water, and the reduction of bindjﬁk merous developing countries,
ee

high population growth resulting fr

d for contraceptives exacerbates
environnental degradation, especi rable ecosysterns. Worldwide, unplanned
preghancies contribute twi to future population growth as desired

Pregrnancies.

46, High populatipn gr@l many developing countries is because :
{AYy  Con 've’use is high
{B} o for cordraception is high
lity is very high

$‘n arnily Planring Programme is successful

47. Which one of the following contributes more to future population growth?
{AY Desired Pregnancies {BY Urwanted Pregnancies

{Cy More aged population {I¥y  MWone of the above
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45, What contributes more pressure on natural resources 7
{AY Population growth alone {BYy Conswnption pattemn alone
{Cy Combination of (A} and (B} {I'y Toverty

49, Degradation of land and water is because:
{AYy Indigenous people do notcare  (BY Land clearing and rmirding

{Cy Earth is ageing {I¥y  MWone of the above :
50. The tone of the passage can best be described as: 9
{AY Analytical and optirnistic {BY FBiased and unprofessi

{Cy Critical and discouraging {I¥y  Drescriptive clgsive

m\,b.()

>
<
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